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Let IX. d) be a metric
space

.

A sequence {xn3n in X is Cauchy if for every
E > 0 there is rome N E IN such that
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Every convergent sequence is Cauchy .

Proof :
Let E > O and let NEN be such that
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A metric grace (X
,
d) is complete if every Cauchy sequence converges .

Examples :

o X -- R
, dlxiyl - Ix -yl is complete

• X -- IR
"

,
d lay)

-

- Hayk is complete

• If ( X ,
d ) is complete then (Xn

,
du ) is complete

(where X
"
-

- Xx Xx -
-
-
- x X

, dnk.yt-dlxyy.lt - -
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, yn))
• X -- Chair , R) , daffy ) -- ftp.ylHH-gltll is complete

• A- ( Kats ,R) ,
d
, High -- fatltlttgltt Ht is not complete .



If IX ,
d) is complete and A E X

,
then Hid ) is complete iff A- is closed .

Proofof"= :

Let { xn3n be a reguence
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QUESTIONS ?

COMMENTS?



Example : Let X -- Cleo , is
,
R) and d. If,gI=fqq,
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